Quiz Review: Angles

et Tle-soiechays w0 2l

Examples:

1)

5) Fill in the missing angle measures.
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For 6-12, use the diagram from #5.
6) LAGE is: 7) £FGE and £BGC are: 8) 2AGB and £BGC are: 9) 2DGC and £DGE are:
A) Acute (A)vertical A) Vertical | A) Vertical
B) Right - B) Complementary Complementary B) Complementary
@Obtuse C) Supplementary - C) Supplementary Supplementary
D) Straight D) None of the above D) None of the above None of the above
10) £DGE and £DGB are: 11) 2AGE and £BGD are: 12) £FGE and £AGB are:
A) Vertical (A) Vertical A) Vertical -
B) Complementary B) Complementary Complementary 18+72= V.4, ,l
Supplementary C) Supplementary C) Supplementary -
D) None of the above D) None of the above D) None of the above

13) Identify a pair of complementary angles from the diagram in #5 that was not already used in #6-12.

[FGE+ LEGD «~ (€D Lec

14) \dentify a pair of supplementary ang|es from the diagram in #5 that was not already used in #6-12.

LAGF+[_A—6C + Py e Fosa'blh‘hﬁ
LFGB +LBGC
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dentify which type of angle pair is marked, and b) Find the missing angle measure. You may assume the
en

15-19, a) |
lFi::es are parallel in each problem.  ¢Ap & SAME Swp,_g‘:]zjfm % |
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a) Mhemnl't W"’ a) Gwépw(m DAHerndle Gaerior  a) Same-side Tferkr @ \brtieal
b) FE10% - D)X=65 By=m D¥s95 Dx=2
Algebra Section

Ive for the variable. Then plug the variable back in to find each gngle

For each problem, set up an equation and so

measure. You may assume tt%a“;:\ne m rallel in each problem. Some side Triterior J5upp
“‘. . ? } 21) \ . ‘ 3‘1 . :

(x+45)° iy g | 7e0’] ’ ?_;Fl%”
Be \‘) M | (6x x=20
‘ (4x) Ed b@ 5 \ T T=g0
- ; > ; ' 6°20= 120 .
[ €0" anl 120°\ Check: @m0 2190,/

7\ \(5x-18)° s .

e I

20)

(2x + 7zl° -2 -2%

2y +{xa20) %% =190
005 g, 4

7 0.‘4..\60
Y s

24) L 4 25)

(2x)°(4x/3;3:)° 2x+Hx-30 B 150
"‘ "0 - L
/ A:35 Nol ‘a %

: 6 =2
A ‘} ‘ G

X=356 "

70" and o' _qﬁ?\‘/

_Check: 92+ 5%+30 <180V
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